
exp.index3

j8fut of]hgf tyf sfo{qmd
 cg';"rL !=!

qm=;= ljj/0f j8f 
g+=

/sd hDdf s}lkmot

1 ! g+= j8f :t/Lo sfo{qmd M 1 300,000.00

1=1

r08]Zj/L /jL–jf6f] qmdfut of]hgf / s':df 9n lgdf{0f

100,000.00

1=2 ;xfos eLd;]g dfu{ 9n lgdf{0f 75,000.00

1=3
lxdfnodfu{–/j Lcf]kL ;Ldfgf 9n

100,000.00

1=4
s]bf9n vf]nf vf]Ng]

25,000.00

2  @ g+= j8f:t/Lo sfo{qmd M 2 300,000.00

2=1 >L/Tg 3/ cuf8L O{tf 5fKg] 125,000.00

2=2 j8f ;ldlt ejg ;'wf/ 50,000.00

2=3 e}/a dfu{ u|fe]n 125,000.00

3  # g+= j8f:t/Lo sfo{qmd M 3 300,000.00

3=1 ofdL8f]n dfu{ jf6f] 9'+uf ;f]lnË 100,000.00

3=2 yfgktL gf/fo0f jl/kl/sf] O{gf/ ;kmfO{ 50,000.00

3=3 vfg]kfgL 6}sL d'gLsf] /fhs'nf] dd{t 25,000.00

3=4 ufGwL cf>d d'gLsf] jf6f] dd{t ;'wf/ 75,000.00

3=5 rr{ k5f8Lsf 50,000.00

4  $ g+= j8f:t/Lo sfo{qmd M 4 300,000.00

4=1 af}4 a[4f>dsf] elTsPsf] 7fp+df dd{t 50,000.00

4=2 Hof;gfgL rf]sdf 9'+uf tyf 9n 75,000.00

4=3 l;ht+ jf6f] dd{t 75,000.00

4=4 s[lif dfu{–s?0ff dfu{ hf]8\g] jf6f] dd{t 100,000.00

5  % g+= j8f:t/Lo sfo{qmd M 5 300,000.00

5=1 sf]nf u0f]z kf]v/Ldf kfs{ lgdf{0f 100,000.00

5=2 gf/fo0f yfg uNnL jf6f] dd{t 75,000.00

5=3 l;nf dfu{ dxfb]j kfj{tL O{gf/ ;kmf ug]{ 25,000.00

5=4 u0f]zdfgk|hfktL–6+k|;fbbfxfnsf] 3/;Dd 9n 100,000.00

6  ^ g+= j8f:t/Lo sfo{qmd M 6 300,000.00

6=1 rf+bgL rf]sdf 9n lgdf{0f 75,000.00

6=2 b'/ ;+~rf/ rf]sdf 9n dd{t 75,000.00

6=3 l;gfufn ;xfos dfu{ . d'lQm dfu{ 9n dd{t 75,000.00

6=4 do'/ xn k5f8L b'+b]O{rf jf6f] u|fe]n 75,000.00

7  & g+= j8f:t/Lo sfo{qmd M 7 200,000.00

7=1 nf]s]Zj/– c;+km jf6f] dd{t 50,000.00

7=2 dxfofd ljxf/df /+u /f]ug 25,000.00

7=3 jf+Vof] rf]sdf 9'+uf dd{t 25,000.00

7=4 ef]nfvf–jf+Vof] jf6f]df vf=kf=nfO{g lj:tf/ / cGo
sfo{{qmd

100,000.00

8  * g+= j8f:t/Lo sfo{qmd M 8 200,000.00

8=1 ;/:jtL k|f=lj=:t/f]ggtL ug]{ 120,000.00

8=2 gf;n rf]s O{gf/ 9sg dd{t 20,000.00
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8=3 gf/fo0f rf]ssf] k5f8Lsf] jf6f]df uf8L /f]Sg] 10,000.00

8=4 x+;/fh dfu{sf] 9ndf :Nofa 15,000.00

8=5 uegfgL rf]s kfgL 6\of+sL xtfpg] 10,000.00

8=6 ^=gf/fo0f rf]ssf] O{gf/ ;kmf ug]{ 25,000.00

9  ( g+= j8f:t/Lo sfo{qmd M 9 200,000.00

9=1 ljleGg :yfgsf] 9n ;kmfO{ 25,000.00

9=2 ;'Ts]/L ;]jf sf]if :yfkgf 10,000.00

9=3 e'sDk kLl8tsf] dftf] kmfNg ;xof]u 15,000.00

9=4 s[i0f uf]kfn efn'–nIdL tf}hn] jf6f] 9n lg= 150,000.00

10  !) g+= j8f:t/Lo sfo{qmd M 10 300,000.00

10=1 !=y'+nf dfu{ blIf0f tkm{ 9n lgdf{0f 100,000.00

10=2 @=>Lv08 dfu{ /w' lwld/]–/f]dk|;fb 9n lgdf{0f 100,000.00

10=3 #=eQm]Zj/ dfu{b]lv rsn]6 sf/vfgf 9n 100,000.00

11  !! g+= j8f:t/Lo sfo{qmd M 11 300,000.00

11=1 !=vx/] dfu{ u|fe]n 75,000.00

11=2 @=jflgof wf/f d'xfg ;'wf/ 25,000.00

11=3 #=eLd dfu{ u|fe]n 75,000.00

11=4 $=rfNg] 9'+uf dfu{ u|fe]n 75,000.00

11=5 %=zxLb dfu{ ;xfos u|fe]n 50,000.00

hDdf 3,000,000.00


